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Application of Combined AHP in Supplier Evaluation Model of
ERP System

YAN Mingchun, GAO Jing
(School of Computer, Huazhong University of Science and Technology, Wuhan 430074)

Abstract An evaluation model to supplier based on combined AHP is proposed. Standard AHP is used to eastablish the weight of each rule in
evaluation system. AHP based on interval is used to evaluate each project and give the interval number of evaluation. Order rules applicable to
interval number is defined, and used to choose supplier according to final interval number. This solution can solve the state of being indeterminate of
constructing judgement matrix with number in using standard AHP, and has been applied in an ERP system.
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